5N R B SRR AR E K4 T TiEs 1/3
WA ;202146 H19H (+)~6H20H (H) 2 R DR EIAREIEAK 7 —/L (50m)

No.20 B¥ 50m B2 B A L L— R R
E R 26.19
B K 4 i B 2E KK =
1 HlR LA FRRAH =3 16/ 5 24. 20 9K
w5 Yk
2 g EE R R =2 16/ 3 24. 24 10#%
w5 sk
3 M RRE R H R =3 16/ 4 24. 27 9%
R Yk
4 /b 55 I R Ei il w1 16/ 2 2442 10%
w5 Yk
5 7Tl B HAf =2 15/ 5 24.93 O
K ek
6 =P ES 5% I K Efi =316/ 6 25.00 9%k
w5 sk
(=N R — =2 15/ 4 25.75 8#k
w5 Yk
8 FH KE A YN =3 16/ 8 1gs.@g(i 8%
9 K &3} 2 ONE =2 15/ 6 %6%)4 8H%
10 =) fdtfe Ay =3 15/ 3 26.13 %
* ek
11 225 Rk FRE =3 15/ 2 26. 48 TH%
12 HTE % FRRF 3 15/ 7 26. 66 5%
13 #dk L Z2EwN il =2 15/ 1 26. 77 Tk
14 3R —BA 2 R =2 14/ 5 26.93 T
15 AN IR 5% Jr K il =1 15/ 8 27.00 %
16 HY G KH =l 13/ 2 27. 01 5%
17 | By Z2EwN il 3 14/ 4 27.15 6%
18 AR ZFA: HEpE =3 13/ 7 27.36 6%
18 AR E=} KHA =l 14/ 2 27.36 %
20 JUJ HEA ok =3 14/ 6 27. 68 6%
21 JIME i £ R 3 13/ 4 27.99 5k
22 [UA  EA LT3 =N i 28. 05 6%
23 FHE EH yNEIPNE] =2 13/ 6 28.30 6%
24 JTH  FHED ok =312/ 1 28. 44 5%k
25 1Rk BN Tk =) 5/ 5 28.79 5%
26 LB Rk = H =2 13/°3 28. 89 55k
27 AH H Py =3 12/ 5 29. 07 45
28 % HIG nEs Vi =2 7/ 2 29.16 5%
29 i HE A =2 11/ 2 29. 26 5%
30 BLH it H v =3 10/ 4 29.32 4%
30 fepk A iR E3 12/ 3 29. 32 44
32 2EH EBE A S =3 6/ 4 29. 54 48
33 & F ik BEFN =310/ 2 29. 59 3tk
34 THE nﬁwj = H =l 12/ 6 29. 64 4%
35 ot Sh& FN=| 53 7/ 3 29.75 3k
36 A SEH A =3 11/ 6 29. 85 35K
37 i KB A =2 11/ 1 29. 86 45%
38 L& b NEs =2 7/ 8 30.59 3%
39 iy F = i =2 10/ 8 30. 89 3k
NN S =3 1/ 5 30.98 3%
41 WE B Fiils =3 9/ 2 31.17 3%
41 HEzE B1A = H =3 9/ 4 31.17 25
43 PhiEy  ZEPEE MEAS =3 8/ 8 31. 81 1%
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B 75 0] B R0 R v S AR BREAFE TS 2/3
A :20214E6 H19H () ~6H20H (H) 2 R DR EIAREIEAK 7 —/L (50m)
No.20 B¥ 50m B2 B A L L— R R
=R 26.19

BfL. K 4 i B 2E KK =

44 ) R & =2 8/ 3 32.03 25

45 KPFE s HEFn =3 10/ 6 32. 21 Ltk

46 SFH A (A= =l 4/ 1 32.55 Ltk

47 K#& 1675 = H =2 4/ 3 32.92 1%

48 FEH, i Fiilzz =1 6/ 5 33. 04 Ltk

49 BPIE  —F P 1L (M) = 6/ 8 33.56

50 Rl Ef# A =3 2/ 6 33. 63

51 HH 1&ak A = 2/ 4 34. 65

52 KFT EE MEAS = 3/ 5 34.79

53 JIiE  JHRA G T e =8| 1/ 3 36.16

54 Vefg  KFn & H =8| 2/ T 37.36

55 B FEE KA il 3/ 2 38. 31

OPN it M5k R =116/ 7 25.03 9%k

w5 Yk
OPN Frfd  #hifE R R H R =316/ 1 25.74 84k
w5 Yk

OPN U~ K 2 ONE o 14/ 7 27.20 TH%
OPN V51| dE—BH Z2EwN il =3 14/ 3 27.69 6%
OPN 4 # il Z2EwN il =312/ 2 27.97 5%
OPN i {4 FRRF =2 14/ 8 28.22 6%
OPN dJt A V2 wN i) =2 14/ 1 28.29 6%
OPN A & &R =1 10/ 5 28.34 65%
OPN [ KiA] LA wN =2 12/ 7 28.38 6%
OPN Sl %% A wNI w2 13/ 1 28. 45 6%
OPN a2 P 7r2h 2 wN i) =2 11/ 4 28.53 55
OPN HgH [mze V2w ) =2 11/ 5 28. 61 5%
OPN #f . 1HEE Z2EwN il =2 12/ 4 28. 64 5%
OPN +@ #EH A wNI =111/ 3 28. 86 5%
OPN K5 Bt 4 R =2 13/ 5 28. 86 5%
OPN dyym] K5 Ay =2 8/ 4 28.96 5%
OPN [LFH {5 Ay =3 5/ 3 29. 08 45
OPN EH &3 FRRE = 9/ 5 29. 64 45%
OPN [LH i HRRF =) 9/ 7 29. 80 4%
OPN ##s AN £ R mlo10/ 1 29. 81 4%
OPN PNAEE  Fnisf H &3 12/ 8 29. 86 35K
OPN % —H thAt =3 13/ 8 29. 88 3%
OPN 741 A3 & R =2 8/ 5 30.15 45%
OPN Efs FHK Z2EwN il =3 10/ 3 30. 41 35
OPN FEE Ay ALY 52 8/ 1 30. 56 3%
OPN BJIl  fiiA ok =3 9/ 1 30.75 2%
OPN K& K 53 =3 11/ 8 30.78 25
OPN Z& T &= HE7E f=a 9/ 8 30.90 3%
OPN il fifify KH =) 7/ 6 31.69 25
OPN 8 1HHE 2 wN ) =2 9/ 6 31.74 25k
OPN /N R 53 =3 8/ 7 31.84 25
OPN a3 I H &g =3 9/ 3 32.09 1%
OPN /BB R HRS 52 6/ 6 32.26 2%
OPN [LH £ ok &3 3/ 3 32.28 1%
OPN Hkf 22y KH =3 7/ 5 32. 31

OPN 7KH #5A KH = 6/ 7 32.37 1%
OPN A FIR Ay ) 52 5/ 6 32.54 1%
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No.20 BB+ 50m BEH

BRI T ]
285+ BN R FEEDH AR A 7 — L (50m)

iz
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REERCER 26.19

BfL. K 4 i B 2E KK =

OPN ¥ KR H P = 8/ 6 32.66 1%
OPN FH3P HEK ok =3 5/ 4 32.88

OPN B7i5 KA KH =) 3/ 4 32.89 1%
OPN Sk & A ONIY = 8/ 2 32.91 1%
OPN ZH: K& V2 wN ) =8| 5/ 8 33.19 1%
OPN Jnfgyt2 B B =2 11/ 7 33.33

OPN e FERL A wN 52 5/ 1 33.40

OPN fmiiE  BB1fG KH =2 5/ T 33.58

OPN #LH: = Ay =2 6/ 1 34.09

OPN fhjk LM 53 =3 4/ 5 34.20

OPN ‘=& K& Ay =] =l 5/ 2 34.42

OPN [  =EIK H e vy = 7/ 1 34. 45

OPN %[5 1= H P = 6/ 2 34.47

OPN 4t ¥ ek HEAS =2 4/ 7 34. 87

OPN TR% HEEE FRAS Al 4/ 6 35. 21

OPN XJII  HhE MEAS =) 4/ 2 35. 36

OPN E&E HIX £ R =) 4/ 8 35. 41

OPN Zguh KA MEAS = 7/ 4 35. 82

OPN #% I HE7g =2 3/ 7 36.08

OPN & o5 A =3 2/ 5 36.17

OPN JII7& & KH =3 2/ 2 37. 21

OPN /AR BRIk MEAS =) 2/ 8 37.70

OPN &K 5 KH = 3/ 6 37.82

OPN EMH 483F MEAE =2 2/ 1 39.28

OPN ZAR $hiE B = 3/ 8 40. 67

OPN XH S (A=) =l 2/ 3 42.55

OPN = | & MEAS =8| 1/ 2 49. 25
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